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L) 3807 HER=TH 6 [Exms=
fERET 3807 BE-TH 9 |EEms=
L) 3808 EBMA—TH 8 [Exms=
fERET 3809 BE-TH 9 |EEms=
L) 3810 HER=TH 7 [Exms=
fERET 3811 BE-TE 8 |EEms=
L) 3811 HR=TH 6 [Exms=
fERET 3812 BE-TE 7 |EEms=
L) 3813 HR=TH 8 [Exms=
fERET 3813 BE-TE 6 |EEms=
L) 3814 HR=TH 4 [Exms=
fERET 3815 BE-TE 3 |EEms=
L) 3816 HR=TH 5 [Exms=
fERET 3816 ER-TH 10 |EEms=
fERET 3817 HR=TH 9 [Exms=
fERET 3817 HE-TE i |EEms=
fEAET 3818 HR=TH 9 [Exms=
fERET 3819 HE-TE 2 |EEms=
fEAET 3820 HR=TH i [Exms=
fERET 3820 HE-TE 2 |EEms=
L) 3821 HR=TH i |Ems=
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[IF 58T 1 25 > R 2%
BERIH it -
LIES F & LIES F

AR HT 3822 BE-THE 4 EEEES
SERET 3823 EERA-TH 9 lmmms=
L) 3823 BR=TH 6 [Exms=
fERET 3824 EERA—TE 3 |EEms=
L) 3825 HR=TH i [Exms=
fERET 3825 tBMA-—TH 2 2 |EEms=
L) 3826 fER—TH 6 4 [Exms=
fERET 3827 1 #B—TH 6 4 |EEms=
L) 3827 2 fER—TH 6 4 [Exms=
fERET 3828 1 #B—TH 7 2 |EEms=
L) 3828 2 fER—TH 7 3 [Exms=
fERET 3828 2 fEE—TE 3 |EEms=
L) 3820 1 fER—TH 2 [Exms=
fERET 3820 1 fEE—TE 4 |EEms=
L) 3820 2 fR—TH 3 [Exms=
fERET 3830 fEE—TE 3 |EEms=
L) 3831 fER—TH 2 [Exms=
fERET 3831 fEE—TE i |EEms=
L) 3832 fER—TH 5 [Exms=
fERET 3833 fEE—TE i |EEms=
L) 3833 EBMA—TH 16 [Exms=
SERET 3833 EERA-TH 6 [mmms=
L) 3834 fR—TH i [Exms=
fERET 3835 fEE—TE i |EEms=
L) 3835 fR—TH 7 [Exms=
fERET 3836 fEE—TE 4 |EEms=
fEAET 3837 fR—TH 4 [Exms=
fERET 3838 fEE—TE i |EEms=
L) 3839 fR—TH i [Exms=
fERET 3839 fEE—TE 5 |EEms=
L) 3839 fR—TH 5 [Exms=
fERET 3840 fEE—TE 4 |EEms=
fEmET 3840 fR—TH 5 [Exms=
fERET 3841 fEE—TE 3 |EEms=
fEmET 3841 BI—TH 2 [E=ms=
fERET 3842 fEE—TE 8 |EEms=
L) 3842 fR—TH 4 [Ems=
fERET 3842 fEE—TH 2 |EEms=
L) 3843 fR—TH 2 [Exms=
fERET 3844 fEE—TH 2 |EEms=
L) 3844 fR—TH 9 [Exms=
fERET 3845 fEE—TH i |EEms=
L) 3845 fR—TH i [Exms=
fERET 3845 fEE—TE i |EEms=
L) 3845 fR—TH 4 [Exms=
fERET 3845 #R—TH 10 |EEms=
L) 3846 fR—TH 6 [Exms=
fERET 3846 fEE—TE 4 |EEms=
L) 3846 fR—TH 7 [Exms=
fERET 3846 fEE—TE 7 |EEms=
L) 3847 fER—TH 2 [Exms=
fERET 3847 fEE—TE 7 |EEms=
fERET 3848 fR—TH 5 [Exms=
fERET 3848 fEE—TH 3 |EEms=
fEAET 3849 fR—TH 5 [Exms=
fERET 3849 fEE—TH 8 |EEms=
fEAET 3850 fR—TH i [Exms=
fERET 3851 fEE—TH i |EEms=
L) 3852 BI—TH 3 |Ems=
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[IF 58T 1 25 > R 2%
ﬁﬁiﬁlli‘lﬁ it -
BT 8 ¥ & BT % F & HE

AR HT 3853 &IL-THE 2 7 B 55 =
fERET 3853 BI-—TH i |EEms=
L) 3854 fR—TH 33 [Exms=
fERET 3855 #A—TH 34 |EEms=
L) 3855 fER—TH 34 [Exms=
fERET 3856 #B—TH 34 |EEms=
L) 3857 fER—TH 34 [Exms=
fERET 3858 #B—TH 34 |EEms=
L) 3859 fER—TH 34 [Exms=
fERET 3860 #B—TH 34 |EEms=
L) 3860 fER—TH 37 [Exms=
fERET 3861 #B—TH 37 |EEms=
L) 3862 fER—TH 36 [Exms=
fERET 3863 #B—TH 35 1 |EEms=
L) 3863 fR—TH 36 [Exms=
fERET 3863 #B—TH 2 |EEms=
L) 3864 fER—TH 35 [Exms=
fERET 3864 #A-TH 20 |EEms=
L) 3865 1 BI—TH 12 [Exms=
fERET 3865 1 HABT=TH 104 |EEms=
L) 3865 2 [Exms=
fERET 3865 3 |EEms=
L) 3866 | [Exms=
fERET 3866 2 |EEms=
L) 3867 [Exms=
fERET 3868 1 #B—TH 27 |EEms=
fEAET 3868 2 [Exms=
fERET 3868 3 #A—TH 3B 5 |EEms=
L) 3868 4 fR—TH 0 4 [Exms=
fERET 3868 5 #A—TH 32 6 |EEms=
L) 3868 6 fR—TH 3 2 [Exms=
fERET 3868 7 #A—TH 31 3 |EEms=
fEmET 3868 8 fR—TH 32 7 [Exms=
fERET 3868 9 #A—TH 3 |EEms=
fEmET 3868 10 fR—TH 18 [E=ms=
fERET 3868 11 #B—TH 29 2 |EEms=
L) 3868 12 fR—TH 29 3 [Ems=
fERET 3868 13 #A—TH 29 4 |EEms=
L) 3868 14 fR—TH 29 1 [Exms=
fERET 3868 15 #A—TH 29 9 |EEms=
L) 3868 16 fER—TH 29 8 [Exms=
fERET 3868 17 #A—TH 29 7 |EEms=
L) 3868 18 fER—TH 32 8 [Exms=
fERET 3868 19 #A—TH 32 9 |EEms=
REAHT 3868 19 fEAE-TH 32 10 [Exms=
fERET 3868 20 #A—TH 32 11 |EEms=
L) 3868 21 fER—TH 32 19 [Exms=
fERET 3868 21 #A—TH 32 18 |EEms=
L) 3868 22 fER—TH 32 16 [Exms=
fERET 3868 22 #A—TH 32 15 |EEms=
REAHT 3868 23 fAE-TH 32 14 [Exms=
fERET 3868 23 #A—TH 32 13 |EEms=
fERET 3868 24 fR—TH 32 1 [Exms=
fERET 3868 25 #A—TH 35 16 |EEms=
fEAET 3868 26 fER—TH 32 [Exms=
fERET 3868 27 #A—TH 33 |EEms=
fEAET 3868 28 fR—TH 33 [Exms=
fERET 3868 29 #B—TH 33 |EEms=
L) 3868 30 #R—TH 33 |Ems=
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TR it
LIES F wE | & e LIES F wE | & e w%
AR HT 3868 31 ERE—TH 33 6 7 B 55 =
fERET 3868 31 #A—TH 3B 7 |EEms=
L) 3868 32 fER—TH 21 6 [Exms=
fERET 3868 33 #A—TH 3B 4 |EEms=
L) 3868 34 fR—TH 0 3 [Exms=
fERET 3868 34 #A—TH 14 4 |EEms=
L) 3868 35 fER—TH 35 16 [Exms=
fERET 3868 36 #A—TH 0 |EEms=
L) 3868 37 fR—TH 28 13 [Exms=
fERET 3868 39 #A—TH 21 1 |EEms=
L) 3868 40 fR—TH 25 4 [Exms=
fERET 3868 40 #A—TH 25 9 |EEms=
L) 3868 41 fR—TH 21 5 [Exms=
fERET 3868 42 #A—TH 0 2 |EEms=
L) 3868 43 fR—TH 21 3 [Exms=
fERET 3868 44 |EEms= St
fEAET 3868 45 fER—TH 28 3 [Exms=
fERET 3868 46 #A—TH 0 5 |EEms=
L) 3868 47 fR—TH 0 5 [Exms=
fERET 3868 48 #A—TH 32 12 |EEms=
L) 3874 1 fER—TH 28 4 [Exms=
fERET 3874 2 #B—TH 6 7 |EEms=
L) 3874 3 fR—TH 0 6 [Exms=
fERET 3874 3 #B—TH 6 3 |EEms=
L) 3874 4 fR—TH 0 9 [Exms=
fERET 3874 5 #B—TH 28 1 |EEms=
fEAET 3874 5 fR—TH 6 2 [Exms=
fERET 3874 5 #A—TH 0 8 |EEms=
L) 3874 6 fR—TH 28 15 [Exms=
fERET 874 7 #A—TH 28 10 |EEms=
L) 3874 8 fR—TH 14 5 [Exms=
fERET 3874 9 #A—TH 28 17 |EEms=
fEmET 3874 10 fR—TH 28 8 [Exms=
fERET 3874 11 #A—TH 28 |EEms=
fEmET 3874 12 fR—TH 28 [E=ms=
fERET 3874 13 #B—TH 28 19 |EEms=
L) 3874 14 fR—TH 28 [Ems=
fERET 3876 2 |EEms=
REAHT 3877 2 [Exms=
fERET 3878 2 |EEms=
L) 3879 1 fR—TH 14 1 [Exms=
fERET 3879 2 |EEms=
L) 3880 1 fR—TH 14 1 [Exms=
fERET 3880 2 |EEms=
L) 3881 1 fR—TH 14 2 [Exms=
HEAET 3881 2 |EEms=
L) 3882 1 fR—TH 14 5 [Exms=
fERET 3882 2 #A—TH 14 16 |EEms=
L) 3882 3 fR—TH 1419 [Exms=
fERET 3882 4 #A—TH 14 20 |EEms=
REAHT 3882 5 fEAE—TH 14 15 [Exms=
fERET 3882 6 #A—TH 14 13 |EEms=
REAHT 3882 7 fAE-TH 1411 [Exms=
fERET 3882 8 #A—TH 14 9 |EEms=
REAHT 3882 9 fAE—TH 14 22 [Exms=
fERET 3882 10 #A—TH 14 20 |EEms=
fEAET 3883 1 fR—TH 15 [Exms=
fERET 3883 1 #A—TH 13 |EEms=
L) 3883 1 fR—TH 15 |Ems=
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TR it
LIES F & LIES F
AR HT 3883 EE—THE 4 EEEES
fERET 3883 fEE—TH i |EEms=
L) 3884 fR—TH 7 [Exms=
fERET 3885 fEE—TH 2 |EEms=
L) 3885 fER—TH i [Exms=
fERET 3885 fEE—TH 8 |EEms=
L) 3886 fER—TH 9 [Exms=
fERET 3887 fE-TE 4 |EEms=
L) 3887 HR=TH 4 [Exms=
fERET 3887 fEE—TE 9 |EEms=
L) 3888 fER—TH i [Exms=
fERET 3888 fEE—TE 5 |EEms=
L) 3888 fER—TH 6 [Exms=
fERET 3889 fEE—TE 9 |EEms=
L) 3890 fR—TH 2 [Exms=
fERET 3891 fEE—TE 8 |EEms=
L) 3892 fER—TH 8 [Exms=
fERET 3893 fEE—TE 2 |EEms=
L) 3894 fER—TH 7 [Exms=
fERET 3895 1 fEE—TE 2 |EEms=
L) 3895 1 fER—TH 4 [Exms=
fERET 3895 1 fEE—TE 4 |EEms=
L) 3805 2 fR—TH 7 [Exms=
fERET 3895 3 fEE—TE 5 |EEms=
L) 3896 | fR—TH 3 [Exms=
fERET 3896 1 #R—TH i1 |EEms=
fEAET 3896 1 fR—TH 2 [Exms=
fERET 3896 1 fEE—TE 9 |EEms=
L) 3896 2 fR—TH i [Exms=
fERET 3896 3 fEE—TE i |EEms=
L) 3897 fR—TH i [Exms=
fERET 3898 fEE—TE i |EEms=
fEmET 3898 fR—TH 6 [Exms=
fERET 3898 fEE—TE 7 |EEms=
fEmET 3898 fR—TH 3 [E=ms=
fERET 3898 fEE—TE 2 |EEms=
L) 3898 fR—TH 8 [Ems=
fERET 3899 fEE—TH 5 |EEms=
L) 3899 fR—TH 6 [Exms=
fERET 3900 1 fEE—TH 3 |EEms=
L) 3900 2 fR—TH 3 [Exms=
fERET 3900 3 |EEms=
REAET 3901 1 fEE—TH [Exms=
fERET 3901 2 |EEms=
REAET 3901 3 fEA-TH [Exms=
fERET 3902 1 fEE—TE |EEms=
REAHT 3902 2 [Exms=
fERET 3902 3 fEE—TE |EEms=
L) 3902 4 fR—TH [Exms=
fERET 3903 1 fEE—TE 2 |EEms=
L) 3903 2 fER—TH 8 [Exms=
fERET 3904 fEE—TE 5 |EEms=
fERET 3905 1 fR—TH i [Exms=
fERET 3905 2 fEE—TH i |EEms=
fEAET 3906 1 fR—TH 5 [Exms=
fERET 3906 1 fEE—TH 4 |EEms=
fEAET 3906 2 fR—TH 6 [Exms=
fERET 3906 3 fEE—TH 6 |EEms=
L) 3906 3 fR—TH 7 |Ems=
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[IF 58T 1 25 > R 2%
ﬁﬁiﬁlli‘lﬁ it -
BT 8 ¥ i BT % =2

AR HT 3907 EE—TH 7 B 55 =
fERET 3908 EERA—TE |EEms=
L) 3908 BABT=TH [Exms=
fERET 3909 #A—TH |EEms=
L) 3909 fER—TH [Exms=
fERET 3909 #B—TH |EEms=
REAET 3910 fEE—TH [Exms=
fERET 3911 #B—TH |EEms=
REAET 3912 fEE—TH [Exms=
fERET 3913 #B—TH |EEms=
L) 3914 fA—-TH [Exms=
fERET 3914 #B—TH |EEms=
REAET 3915 fEE—TH [Exms=
fERET 3916 1 fEE—TE |EEms=
REAET 3916 2 fEA-TH [Exms=
fERET 3917 1 fEE—TE |EEms=
REAET 3917 1 fEE—TH [Exms=
fERET 3917 1 fEE—TE |EEms=
REAET 3917 1 fEE—TH [Exms=
fERET 3917 3 fEE—TE |EEms=
REAET 3917 3 fEA-TH [Exms=
fERET 3918 #B—TH |EEms=
L) 3919 fR—TH i [Exms=
fERET 3920 #B—TH 2 |EEms=
L) 3920 fR—TH 2 [Exms=
fERET 3920 #B—TH 2 |EEms=
fEAET 3921 fR—TH 2 [Exms=
fERET 3921 fEE—TE |EEms=
REAET 3922 1 fEE—TH [Exms=
fERET 3922 2 fEE—TE |EEms=
REAET 3922 3 fEA-TH [Exms=
fERET 3922 3 BAET=THE |EEms=
fEmET 3923 1 fR—TH i [Exms=
fERET 3923 1 fEE—TE 6 |EEms=
fEmET 3923 1 HER=TH 4 [E=ms=
fERET 3923 2 #A—TH 5 1 |EEms=
L) 3923 3 fR—TH 3 2 [Ems=
fERET 3923 4 #A—TH 3 2 |EEms=
L) 3924 fR—TH 3 2 [Exms=
fERET 3925 1 #A—TH 3 3 |EEms=
L) 3925 2 fR—TH 3 4 [Exms=
fERET 3925 3 #A—TH 3 4 |EEms=
L) 3926 1 HER=TH i [Exms=
fERET 3926 1 #A—TH 3 7 |EEms=
L) 3926 2 fR—TH 3 6 [Exms=
fERET 3927 #A-TH 9 5 |EEms=
L) 3927 HR=TH 9 6 [Exms=
fERET 3928 #A—TH 3 6 |EEms=
L) 3929 fR—TH 6 5 [Exms=
fERET 3930 #A—TH 5 2 |EEms=
L) 3931 fER—TH 3 9 [Exms=
fERET 3931 #A-TH 9 2 |EEms=
fERET 3931 HR=TH 9 3 [Exms=
fERET 3932 #A—TH 3 10 |EEms=
fEAET 3933 HR=TH 20 2 [Exms=
fERET 3933 fEE—TH 6 |EEms=
fEAET 3933 fR—TH 2 [Exms=
fERET 3933 fEE—TH 5 |EEms=
L) 3933 fR—TH 6 |Ems=
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AR HT 3933 EE—THE 12 8 EEEES
fERET 3934 #A—TH 6 3 |EEms=
L) 3935 BR=TH 21 3 [Exms=
fERET 3936 #A-TH 20 5 |EEms=
L) 3937 1 HR=TH 10 5 [Exms=
fERET 3937 2 #A-TH 0 4 |EEms=
L) 3938 HR=TH 9 7 [Exms=
fERET 3939 1 #A-TH 0 3 |EEms=
L) 3939 2 HR=TH 0 2 [Exms=
fERET 3939 2 #A-TH 10 10 |EEms=
L) 3939 3 HR=TH 10 8 [Exms=
fERET 3961 1 #A-TH 2 5 |EEms=
L) 3961 2 HR=TH 0 7 [Exms=
fERET 3962 1 #A-TH 2 4 |EEms=
L) 3962 1 HR=TH 9 4 [Exms=
fERET 3963 #A-TH 2 7 [mmms= R
fEAET 3964 1 fR—TH 3 8 [Exms=
fERET 3964 1 #B—TH 26 3 |EEms=
L) 3964 1 fER—TH M5 [Exms=
fERET 3964 1 #B—TH M 6 |EEms=
L) 3964 2 BR=TH 2 2 [Exms=
fERET 3965 1 #A-TH 2 1 |EEms=
L) 3965 2 HER=TH 2 1 [Exms=
fEAET 4788 2 fERET 5100 1 |EEms=
REAHT 479 2 REAET 5100 1 [Exms=
AEAET 4791 2 fERET 5101 14 |EEms=
REAHT 4791 3 [Exms=
fEAET 4791 5 fERET 5101 14 |EEms=
REAHT 4791 6 REAET 5101 14 [Exms=
AE AT 4791 8 fERET 5101 13 |EEms=
REAHT 4791 9 REAAT 5112 [Exms=
AEAET 4791 10 AE AT 5101 14 |EEms=
fEmET 4791 11 fERET 5101 13 [Exms=
fERET 4795 1 fERET 5101 4 |EEms=
AEAET 4795 2 [E=ms=
AEAET 4795 5 fERET 5101 5 |EEms=
L) 4795 6 fERET 5101 6 [Ems=
AE AT 4795 7 fERET 5101 7 |EEms=
L) 4795 8 fERET 5101 8 [Exms=
AE AT 4795 9 fERET 5101 9 |EEms=
L) 4795 18 fERET 5101 3 [Exms=
fERET 4797 3 |EEms=
REAHT 4797 5 REAET 5101 12 [Exms=
fE AT 4797 5 fERET 5101 11 |EEms=
REAHT 4797 6 AR 5101 10 [Exms=
AE AT 4798 1 HAEI=T B 9 1 |EEms=
REAHT 4798 1 AR 5102 2 [Exms=
AE AT 4798 1 fERET 5101 1 |EEms=
L) 4708 2 HAEI=TH 9 2 [Exms=
REAET 4798 2 fERET 5101 2 |EEms=
L) 4708 2 HAEI=TH 104 16 [Exms=
R ET 4798 3 |EEms=
fERET 4798 4 HAEI=TH 105 2 [Exms=
AE AT 4798 5 HAEI=T B 105 3 |EEms=
fEAET 4798 6 HAEI=TH 105 [Exms=
AEAET 4708 7 HAEI=T B 99 10 |EEms=
fEAET 479 1 fERET 5102 3 [Exms=
fERET 479 2 |EEms= st
REAHT 4800 1 REAAET 5102 1 |Ems=
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=L 4800 2 FEEME =
HEAET 4801 1 it AET=TH 9 3 |EEms=
BE AT 4801 2 [Exms=
HEAET 4802 2 |EEms=
HE AT 4802 3 tABT=TH 9 3 [Exms=
fERET 4802 4 #B—TH 1 6 |EEms=
L) 4802 5 fERET 5103 3 [Exms=
fERET 4802 5 #B—TH 17 |EEms=
HEAET 4802 5 tABT=TH 105 7 [Exms=
B AT 4850 2 |EEms=
L) 4850 3 fER—TH 13 3 [Exms=
fERET 4850 4 |EEms= St
fEAET 4850 5 fR—TH 13 3 [Exms=
fERET 4850 6 #B—TH 13 3 |EEms=
L) 4850 8 fR—TH 13 4 [Exms=
HEAET 4850 15 e AET 5103 1 |EEms=
REAHT 4850 15 fEE-TH 2 1 [Exms=
B A ET 4851 2 |EEms=
HEAET 4851 3 tABT=TH 105 8 [Exms=
B AT 4851 7 HEAET 5105 14 |EEms=
HEAET 4851 7 tABT=TH 105 9 [Exms=
B AET 4852 2 |EEms=
REAHT 4852 3 REAAT 5103 2 [Exms=
HEAET 4852 4 HEAET 5105 13 |EEms=
L) 4852 5 fR—TH 13 [Exms=
BERET 4853 2 |EEms=
fEAET 4853 3 fR—TH 1 [Exms=
fERET 4853 4 |EEms= st
REAHT 4853 5 AR 5105 12 [Exms=
fERET 4853 5 #A—TH 12 |EEms=
BE AT 4854 2 [Exms=
B AT 4854 3 HEAET 5105 11 |EEms=
RERET 4854 6 AERET 5105 7 [Exms=
HEAET 4863 3 HEAET 5105 6 |EEms=
HERET 4863 3 AE AT 5105 10 [E=ms=
HEAET 4863 12 e AET 5105 8 |EEms=
L) 4863 14 fERET 5105 8 [Ems=
HE AT 4863 15 it AET=TH 105 1 |EEms=
HEAET 4863 16 tABT=TH 105 1 [Exms=
BERET 4864 2 |EEms=
B AT 4864 3 e AET 5105 7 [Exms=
HE AT 4864 6 HEAET 5105 11 |EEms=
REAHT 4864 7 REAET 5105 9 [Exms=
fERET 4867 9 fERET 5105 |EEms=
REAHT 4867 10 REAAT 5105 [Exms=
BERET 4873 2 |EEms=
L) 4873 3 fR—TH 1 [Exms=
fERET 4873 4 fERET 5105 3 |EEms=
REAHT 4873 6 REAAET 5105 1 [Exms=
B AT 4873 7 HEAET 5105 2 |EEms=
L) 4874 1 fERET 5106 3 [Exms=
fERET 4874 1 #A—TH 32 3 |EEms=
3= 4874 2 [Exms=
fERET 4875 3 #A—TH 35 10 |EEms=
fEAET 4875 4 fR—TH 32 2 [Exms=
B AT 4875 6 HEAET 5108 6 |EEms=
REAHT 4875 7 fAE-TH 3 11 [Exms=
B AT 4875 8 HEAET 5108 5 |EEms=
L) 4875 14 #R—TH 32 5 |Ems=
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HEAHT 4875 15 HERET 5106, 1 FEEME
fERET 4875 19 #A—TH 2 10 |EEms=
REAHT 4875 24 REAET 5106 2 [Exms=
fERET 4875 25 |Emms= gt
L) 4875 26 |EmmsE= bR bt
B AET 4877 2 |EEms=
3= 4975| 2 [Exms=
fERET 4975 6 fERET 5109 |EEms=
REAHT 4975 6 REAAT 5108 1 [Exms=
fERET 4975 1 #B—TH 3B 4 |EEms=
L) 4976 2 fER—TH 35 [Exms=
B AT 4976 19 |EEms=
L) 49771 2 fER—TH 3B [Exms=
fERET 4977 4 |EEms=
B AT 4979 3 [Exms=
& 3966 1 it AET=TH 121 |EEms=
& 3066 2 it ARET=T B 120 [Exms=
& 3969 1 it AET=TH 103 10 |EEms=
& 3069 2 i AET=T B 103 10 [Exms=
& 3969 3 it AET=TH 103 2 |EEms=
& 3969 4 HABT=TH 103 11 [Exms=
& 3970 1 it AET=TH 104 9 |EEms=
& 3970 2 fR—TH 18 [Exms=
& 3970 3 EE—TH 18 |EEms=
& 3970 4 i AET=T B 103 13 [Exms=
& 3970 5 it AET=TH 103 1 |EEms=
& 3970 6 [Exms=
& 3971 1 itAET=TH 104 4 |EEms=
& 3971 2 [Exms=
& 3971 3 it AET=TH 104 13 |EEms=
& 3971 4 it AET=T B 104 4 [Exms=
& 3972 1 itAET=TH 98 25 |EEms=
& 3972 2 it AET=T B 102 15 [Exms=
& 3972 3 itAET=TH 101 9 |EEms=
& 3972 4 it AET=T B 101 6 [E=ms=
& 3972 5 itAET=TH 101 3 |EEms=
& 3972 6 it AET=T B 104 5 [Ems=
& 3972 7 tAET=TH 102 1 |EEms=
& 3073 1 it AET=T B 100 3 [Exms=
& 3973 2 it AET=TH 101 1 |EEms=
& 3973 3 it AET=T B 101 10 [Exms=
& 3973 4 it AET=TH 100 4 |EEms=
& 3974 1 it AET=T B 104 15 [Exms=
& 3974 1 itAET=TH 104 3 |EEms=
& 3974 2 it AET=T B 104 2 [Exms=
& 3974 3 it AET=TH 104 2 |EEms=
& 3974 4 it AET=T B 104 2 [Exms=
& 3975 AET=TB 104 12 |EEms=
& 3975 HABT=TH 9 8 [Exms=
& 3976 1 it AET=TH 104 1 |EEms=
& 3076 1 it AET=T B 105 5 [Exms=
& 3976 2 it AET=TH 100 1 |EEms=
& 3977 it ARET=T B 105 6 [Exms=
& 3978 1 it AET=TH 105 3 |EEms=
& 3978 2 [Exms=
& 3978 3 ®EE—TH 1 3 |EEms=
& 3978 4 HABT=TH 105 4 [Exms=
& 3979 1 it AET=TH 99 |EEms=
& 3979 2 |Ems=




19/ 23

[H 3 12 ot FE 2%
HERTHE Haih
e
g ¥ & ¥ B g ¥ mE | B #B

BHET 3979 3 it AET=TH 105 2 ERAE=
BT 3979 6 AET=TB 105 8 |EEms=
ST 3979 7 it AET=T B 99 10 [Exms=
LT 3979 8 it AET=TH 105 4 |EEms=
SHET 3979 9 it ARET=T B 105 4 [Exms=
ST 3980 1 ®E—TH 5 3 |EEms=
BT 3980 1 fER—TH 6 7 [Exms=
BT 3080 2 tAET=TBE 99 10 |EEms=
BT 3980 3 fR—TH 13 7 [Exms=
ST 3981 1 it AET=TH 9 5 |EEms=
SHET 3081 2 it ARET=T B 100 2 [Exms=
BT 3081 3 it AET=TBE 100 2 |EEms=
SHET 3082 1 i AET=T B 100 2 [Exms=
LT 3982 2 it AET=TH 9 7 |EEms=
ST 3082 2 i AET=T B 9 6 [Exms=
BT 3982 3 tAET=TB 100 2 |EEms=
BT 3982 4 HABT=TH 9 4 [Exms=
BT 3982 5 tAET=TB 100 2 |EEms=
SHET 3082 6 i AET=T B 100 2 [Exms=
LT 3982 7 it AET=TH 9 5 |EEms=
BT 3983 1 HABT=TH 98 [Exms=
ST 3083 2 HEAET 5100 4 |EEms=
ST 3083 3 [Exms=
BT 3084 1 tAET=TB 98 2 |EEms=
BT 3984 1 BIL—TH 14 7 [Exms=
BT 3084 2 tAET=TB 98 6 |EEms=
BT 3984 3 HABT=TH 98 8 [Exms=
LT 3985 1 itAET=TH 98 5 |EEms=
BT 3985 2 HABT=TH 98 4 [Exms=
ST 3985 3 it AET=TH 98 8 |EEms=
BT 3986 1 HABT=TH 98 5 [Exms=
LT 3086 2 itAET=TH 98 4 |EEms=
BT 3986 3 HABT=TH 8 5 [Exms=
BT 3086 4 AET=TB 98 10 |EEms=
SET 3087 1 it AET=T B 98 25 [E=ms=
BT 3087 2 AET=TB 98 18 |EEms=
BT 3987 3 HABT=TH 98 16 [Ems=
ST 3987 4 tAET=TH 98 13 |EEms=
BT 3989 1 HABT=TH 98 19 [Exms=
BT 3089 2 AET=TB 98 21 |EEms=
BT 3991 HABT=TH 98 23 [Exms=
BT 3992 1 AET=TB 98 25 |EEms=
SHET 3992 2 it AET=T B 98 27 [Exms=
BT 3093 1 AET=TB 102 14 |EEms=
ST 3093 1 it AET=T B 104 14 [Exms=
BT 3093 2 AET=TB 98 25 |EEms=
SHET 3093 3 it AET=T B 102 6 [Exms=
HHET 3993 4 |EEms=
SHET 3093 5 it AET=T B 100 7 [Exms=
BT 3993 6 AET=TBE 102 10 |EEms=
BT 3993 8 HABT=TH 98 32 [Exms=
BT 3093 9 AET=TBE 98 29 |EEms=
BT 3993 10 BABT=TH 98 3t [Exms=
BT 3993 11 AET=TB 102 10 |EEms=
SHET 3093 12 it AET=T B 100 10 [Exms=
BT 3093 13 AET=TB 100 11 |EEms=
BT 3993 14 HABT=TH 98 27 [Exms=
BT 3094 1 tAET=TB 102 2 |EEms=
SHET 3094 2 it AET=T B 102 |Ems=
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L) 3994 3 tEMA—TH 1 1 FEEME
BT 3994 4 it AET=TH 102 8 |EEms=
ST 3095 1 it AET=T B 98 39 [Exms=
By 3995 2 |EEms= st
SHET 3095 3 it ARET=T B 98 29 [Exms=
BET 3995 4 tAET=TBE 98 31 |EEms=
ST 3095 5 it AET=T B 98 32 [Exms=
HHET 3995 6 it AET=TH 98 34 |EEms=
BHET 3095 7 it AET=T B 98 36 [Exms=
HHET 3995 8 it AET=TH 98 41 |EEms=
BT 3996 1 HABT=TH 98 4 [Exms=
BT 3996 2 it AET=TH 98 39 |EEms=
SHET 3097 1 i AET=T B 103 3 [Exms=
ST 3997 2 it AET=TH 98 43 |EEms=
ST 3097 3 i AET=T B 102 9 [Exms=
ST 3998 1 it AET=TH 98 42 |EEms=
BT 3998 1 HABT=TH 98 40 [Exms=
ST 3998 2 it AET=TH 102 12 |EEms=
BT 3998 3 HABT=TH 103 8 [Exms=
ST 3998 4 it AET=TH 103 6 |EEms=
SHET 3098 5 i AET=T B 103 4 [Exms=
ST 3998 6 #1L—TH 14 8 |EEms=
ST 3098 7 i AET=T B 102 9 [Exms=
ST 4009 1 itEAET=TH 119 |EEms=
RS 304 1 LBMA—TH 3 9 [Exms=
rEMA 304 1 tEMA—TH 7 2 |EEms=
RS 304 1 HR=TH 28 4 [Exms=
rEMA 304 1 tEMA—TH 2 4 |EEms=
RS 304 1 LBMA—TH 3 10 [Exms=
rEMA 304 1 tEMA—TH 2 5 |EEms=
RS 304 2 LBMA—TH 17 [Exms=
rEMA 304 3 tEMA—TH 7 9 |EEms=
RS 304 4 LBMA—TH 7 6 [Exms=
rEMA 304 5 tEMA—TH 7 6 |EEms=
RS 305 LBMA—TH 113 [E=ms=
rEMA 305 tEMA—TH 8 3 |EEms=
RS 306 LBMA—TH 8 2 [Ems=
rEMA 307 tEMA—TH 8 1 |EEms=
RS 308 LBMA—TH 8 [Exms=
rEMA 309 tEMA—TH 8 1 |EEms=
RS 310 LBMA—TH 9 [Exms=
rEMA 311 tEMA—TH "4 |EEms=
RS 311 LBMA—TH 20 10 [Exms=
RN 311 #A—TH 7 4 |EEms=
RS 312 LBMA—TH 20 15 [Exms=
rEMA 313 tEMA—TH "2 |EEms=
RS 313 LBMA—TH 21 5 [Exms=
rEMA 314 tEMA—TH 20 11 |EEms=
RS 315 LBMA—TH 20 12 [Exms=
rEMA 316 tEMA—TH 21 4 |EEms=
RS 317 LBMA—TH 20 13 [Exms=
rEMA 317 tEMA—TH 21 6 |EEms=
RS 318 1 LBMA—TH 23 8 [Exms=
rEMA 318 2 tEMA—TH 20 7 |EEms=
RN 318 3 LBMA—TH 28 7 [Exms=
rEMA 318 4 tEMA—TH 23 6 |EEms=
RN 318 5 |mmmsE= b bt
rEMA 318 6 tEMA—TH 23 20 |EEms=
RN 318 7 |mmmsE= b it
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EEER 318 8 tEMA—TH 21 7 FEEME =
rEMA 318 9 tEMA—TH 21 9 |EEms=
=1 318 10 |ExmE= BT
rEMA 318 11 tEMA—TH 20 1 |EEms=
=1 318 12 |Exms= BT
rEMA 318 13 tEMA—TH 20 5 |EEms=
EERA 318 14 EBEMA—TH 20 [Exms=
rEMA 318 15 tEMA—TH 23 8 |EEms=
rEmA 319 1 rEMA—TH 37 13 [Exms=
rEMA 319 2 tEMA—TH 23 13 |EEms=
rEmA 319 5 rEMA—TH 23 11 [Exms=
rEMA 319 6 tEMA—TH 23 18 |EEms=
rEmA 319 7 rEMA—TH 23 18 [Exms=
rEMA 320 tEMA—TH 28 5 |EEms=
EERA 321 EBEMA—TH 23 12 [Exms=
rEMA 322 tEMA—TH 18 4 |EEms=
EERA 323 1 EBEMA—TH 18 [Exms=
rEMA 323 1 tEMA—TH 23 9 |EEms=
EEmA 323 2 rEMA—TH 19 12 [Exms=
rEMA 324 tEMA—TH 19 13 |EEms=
IE={TES 325 1 |ExmE= BT
rEMA 325 2 tEMA—TH 18 6 |EEms=
EERA 325 3 EBEMA—TH 18 8 [Exms=
rEMA 325 4 tEMA—TH 23 11 |EEms=
EERA 326 EBEMA—TH 23 10 [Exms=
rEMA 327 1 tEMA—TH 19 14 |EEms=
EERA 3271 2 EBEMA—TH 19 2 [Exms=
rEMA 327 3 tEMA—TH 19 1 |EEms=
EERA 328 EBEMA—TH 19 3 [Exms=
rEMA 329 tEMA—TH 19 1 |EEms=
EERA 330 EBEMA—TH 13 12 [Exms=
rEMA 331 tEMA—TH 13 10 |EEms=
EERA 331 EBEMA—TH 13 17 [Exms=
rEMA 332 tEMA—TH 13 13 |EEms=
EERA 333 EBEMA—TH 12 [E=ms=
rEMA 334 tEMA—TH 12 8 |EEms=
EERA 335 EBEMA—TH 12 [Ems=
LERA 336 |Emms= gun st
rEmA 336 2 rEMA—TH 19 [Exms=
rEMA 336 3 tEMA—TH 12 7 |EEms=
EEERA 336 4 lEms= st
rEMA 336 5 tEMA—TH 12 20 |EEms=
EEmA 336 6 rEMA—TH 19 10 [Exms=
rEMA 336 7 tEMA—TH 12 23 |EEms=
EEmA 336 8 rEMA—TH 12 16 [Exms=
rEMA 336 9 tEMA—TH 12 18 |EEms=
EEmA 336 10 rEMA—TH 12 1 [Exms=
rEMA 336 11 tEMA—TH 12 3 |EEms=
EEmA 336 12 rEMA—TH 12 20 [Exms=
rEMA 337 2 tEMA—TH 9 6 |EEms=
EEmA 337 2 rEMA—TH 13 11 [Exms=
rEMA 337 3 tEMA—TH 9 7 |EEms=
EERA 338 1 EBEMA—TH 71 [Exms=
rEMA 338 2 tEMA—TH 12 12 |EEms=
EERA 338 3 EBEMA—TH 8 6 [Exms=
rEMA 338 4 tEMA—TH 6 5 |EEms=
EERA 338 5 EBEMA—TH 8 5 [Exms=
rEMA 338 6 tEMA—TH 8 4 |EEms=
EEmA 339 tEMA—TH 13 9 |Ems=
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BT % % BT % %

EEER tEMA—TH

EERA tEMA—TE I
BRI i LERA—TE I
EERA 2 tEMA—TE I
BRI 3 LERA—TE I
EERA i tEMA—TE I
BRI 2 LERA—TE I
EERA i tEMA—TE I
BRI 2 LERA—TE I
EERA 3 tEMA—TE I
BRI 4 LERA—TE I
EERA LEMA—TE I
BRI LERA—TE I
LB LEMA—TE I
BRI LERA—TE I
LB EEMA—TE I
BRI LERA—TE I
LB LEMA—TE I
BRI LERA—TE I
LB LEMA—TE I
BRI LERA—TE I
LB EEMA—TE I
EERIA LBERA—TE I
BRI LERA—TH I
EERIA EBEA—TE I
BRI LERA—TH I
EERIA LBERA—TE I
BRI LERA—TH I
EERIA LBERA—TE I
BRI LERA—TH I
EERIA LBERA—TE I
BRI LERA—TH I
EERIA i LBERA—TE I
&R 2 tEMA—TH |
EERIA 3 LBERA—TE I
BRI 4 LERA—TH I
EERIA 5 LBERA—TE I
BRI LERA—TH I
EERIA i LBERA—TE I
BRI LERA—TH I
EERA LBEA—TE I
BRI LERA—TH I
EERA EBEA—TE I
BRI LERA—TH I
EERA i EBEA—TE I
BRI 2 LERA—TH I
EERA 3 EBEA—TE I
BRI 4 LERA—TH I
EERA 5 EBEA—TE I
BRI 6 LERA—TH I
EERA 7 EBEA—TE I
BRI i LERA—TH I
EERA 2 EBEA—TE I
BRI i LERA—TH I
EERIA 2 EBEA—TE I
BRI i LERA—TH I
EERIA 2 EBEA—TE I
BRI 3 LERA—TH I
EERIA 4 LBEMA—TE |
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EEER 375 1 tEMA—TH 35 12 FEEME =
rEMA 375 2 tEMA—TH 29 12 |EEms=
rEmA 375 3 rEMA—TH 29 12 [Exms=
rEMA 375 4 tEMA—TH 3B 9 |EEms=
rEmA 375 5 rEMA—TH 36 [Exms=
rEMA 376 tEMA—TH 35 10 |EEms=
EERA 377 EBEMA—TH 3 8 [Exms=
rEMA 377 2 tEMA—TH 20 11 |EEms=
rEmA 377 3 rEMA—TH 29 11 [Exms=
rEMA 378 tEMA—TH 3B 7 |EEms=
EERA 378 EBEMA—TH 271 10 [Exms=
rEMA 378 2 tEMA—TH 37 12 |EEms=
EERA 379 EBEMA—TH 29 [Exms=
rEMA 380 1 tEMA—TH 29 3 |EEms=
rEmA 380 2 rEMA—TH 29 11 [Exms=
rEMA 381 1 tEMA—TH 29 |EEms=
EERA 81 2 EBEMA—TH 29 [Exms=
rEMA 381 3 tEMA—TH 29 12 |EEms=
EERA 382 EBEMA—TH 28 [Exms=
rEMA 382 1 tEMA—TH 28 8 |EEms=
EEmA 382 1 &1L—TH 19 11 [Exms=
rEMA 383 tEMA—TH 28 7 |EEms=
EERA 385 EBEMA—TH 28 [Exms=
rEMA 386 1 tEMA—TH 37 8 |EEms=
EERA 388 EBEMA—TH 35 19 [Exms=
rEMA 389 1 tEMA—TH 29 13 |EEms=
EERA 389 2 EBEMA—TH 3 2 [Exms=
rEMA 389 3 tEMA—TH 35 6 |EEms=
EERA 390 EBEMA—TH 3 3 [Exms=
rEMA 391 1 tEMA—TH 3B 2 |EEms=
EERA 391 2 EBEMA—TH 3 3 [Exms=
rEMA 391 3 tEMA—TH 3B 4 |EEms=
EERA 391 4 EBEMA—TH 3 5 [Exms=
rEMA 391 5 tEMA—TH 35 6 |EEms=
EERA 392 EBEMA—TH 3B 4 [E=ms=
rEMA 393 tEMA—TH 35 19 |EEms=
EERA 395 EBEMA—TH 3 5 [Ems=
rEMA 398 tEMA—TH 35 19 |EEms=
EERA 399 1 EBEMA—TH 35 14 [Exms=
rEMA 399 2 tEMA—TH 35 11 |EEms=
EERA 399 3 EBEMA—TH 36 4 [Exms=
rEMA 434 6 tEMA—TH 36 5 |EEms=
EERA 434 8 EBEMA—TH 35 19 [Exms=
rEMA 434 9 tEMA—TH 35 19 |EEms=
EERA 434 22 EBEMA—TH 37 [Exms=
rEMA 434 23 tEMA—TH 28 4 |EEms=
EERA 434 23 EBEMA—TH 37 [Exms=
rEMA 434 23 tEMA—TH 37 11 |EEms=
EERA 434 41 EBEMA—TH 37 7 [Exms=
rEMA 434 M tEMA—TH 3710 |EEms=
R 500 lExms= st
TEMA 272 tEMA—TH 16 4 |EEms=
FTEmA 273 rEMA—TH 28 [Exms=
|




